ractice, the émsw :
édge of decm:als is o bemg

ndmg the cost of .
width and prlce per square foo

ccurs is tha of fi




M the area being considered is less than 1 sq. ft. the area in square
N muwear on scale G opposite 1 at the left of scale 1),

82 1'—3" x 5" at 2/3 per sq. ft.




Set P at station U

Qpyposite 1’ on seale B

The cabinet will be 1'
that in this form it is

find 54" on scale A.
h‘ifl_l x 8}" wide x 5{s" deep ptwnded
d to lts Urpose.

e B
anmns of the box wﬂl be 4'}3-” long x 3 wide

fand :Etu :;e foot of timber priced per cubic foot.
e numbers at the left of th top scales
mdlcates the th]_c, s 0. oer:_ a( k m“-"
8s on the lower scale & on S

o find the cost of 1
Reverse the slide and brmgs < ft Df

to make the fractmn 2.
C 45 ',on scale Cl

‘the shde.m the normal 'y means of a similar. .n'léthlod With
pos:t:on but adjust !
m obtained at the left on scales A an{i Bedﬁi(:lt?l?: ;}:fc:h;(;l:n: o frac?m:
quare 00

““as one inch” on scale B,
and opposit
per sq. fr. ﬁm: the ﬂnckness colzlgern:done scale A is found the true price

Set Sioz. on scale? C to the 9
Opposne 3/- on scale B read

Manufactured by Unique Slid.
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